
 
 

 

 

 

 

sin 𝛼 ± sin 𝛽 = 2 sin
1

2
(𝛼 ± 𝛽) cos

1

2
(𝛼 ∓ 𝛽)             (Equation 1)      
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                                                                 r =
1

2
a𝑡2 + vo𝑡 + r0                                  (1) 

                                                                                       

Total resistance for the system was obtained using 
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𝑅𝑇
=

1

𝑅1
+

1

𝑅2
+

1

𝑅3
+ ⋯ 

 

The radius of rotation was calculated using Fc = mv2/r. Using the value obtained for r, we were able 

to calculate the acceleration of the system, using ac= v2/r. 
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 “The relationship between A and B, as given by Equation 1, indicates that …” 

 “Using Eq. 1, it can be seen that…” 

 “Using (1), we find that …” 

The coefficient of fluid drag (Cd) is given by 

𝐶𝑑 =
𝐹𝑑

1

2
𝜌𝑣2𝐴ρ

                                                                       Equation 1 

where Fd is the drag force, ρ is the fluid density, v is the velocity of the object relative to the fluid, and 

Ap is the area that the force acts upon.  



 

 

  

 You can use the Equation function in Word, found under the Insert tab.  
 

 If you use Windows, you can use the Math Input Panel, found under Accessories in the start 
menu, or within the Ink Equation feature, depending on the version of Word you are using.  

https://support.office.com/en-us/article/write-insert-or-change-an-equation-1d01cabc-ceb1-458d-bc70-7f9737722702#ID0EACAAA=Write_new_equation
https://www.online-tech-tips.com/windows-7/windows-7-math-input-panel/
https://www.youtube.com/watch?v=oi9AaDxPL_k

